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Q. 1. (A) Select and write the correct answer from the given alternatives in each of the
following questions : (3]

(i) LetU=11,2,3,4,5,6,7, 8} be the universal setand A= {1, 2,3},
B=1{5,7}, then ANB is
(@) A (bB)B (c)A (d) B

(ii) If A, B and C are non-empty subsets of a set, then (A — B) U(B — A)

equals
(a) (ANB)U(AUB)  (b) (AUB) —(A(B)
(c) A"(AB) (d) (AUB)—-B

(iii) If f: R — R is defined by f(x) = x* — 1, then the value of f [f(1)] is
(@) 0 (b) —1 (¢) 1 (d) -2

Q.1 (B) State whether the following statements are True / False : [2]

(@) fx) =x> — 11 Then f(x) +f( i 31—( ) S

(ii) If f(x) =x? + 2 and g(x) =5x — 8, then (§ | () SR

(i fA={x/x*-2x+1=0},B={x/x*+2x-3=0},
C={x/x*— 6x+5=0}, then ANBNC=0¢.
Q.2 Attempt any three of the following questions [9]
1)  Describe the following sets in Roster form
1) {x/xisaletter of the word" MARRIAGE'}

Y O U S 1 .
11) {x/x 1s an integer, -—<x<— |
2 )

=

m) {x/x=2n, neN}
2) LetA={1,2,3,4},B=1{4,5,6},
C=1{5,6}.
Find 1) Ax(BnCQ)
i) (AxB)n(AxC)
3.) Findx, if g (x) =0 where

Sx—6 18242

(@) g)="7 b)gx)=—7




4.)

From amongst 2000 literate individuals of a
town, 70% read Marathi newspapers, 50%
read English newspapers and 32.5% read
both Marathi and English newspapers. Find
the number of individuals who read.

1) at least one of the newspapers.
11) neither Marathi nor English newspaper.

1i1) Only one of the newspapers.

Q.3 Attempt any one of the following(Activity)

1.

2.

Complete the following activity.

A={ leeN & x<8}
3x

B={ —!—/xeN & x<8}

2x
Find AUB,AnB,A-B,B-A
Seolution ;

Write set A & set B in list form

For AUB, [consider all elements from A as

well as B, don't repeat elements]

For AnB, [Take all the elements that are

common in A and B]

For A — B [Take all the elements that are
present in A but not in B]

U = {1,2,3.4,5,6,7.8
A={12345 A= |
B = {4,5,6.7.8} B L |

3]



Complete the following activity.

AR L ', n(AUB) = [:]
A=B =i !, n(A-B) =|:]
B-A = {iciircicninnens 1, nB-A) =[]
ANB = {.eeene . n(AnB) = [:]

1) n(A-B)+ n(AnB)+ n(B-A)

= |+ |+| |

1) ANB'= | }
ANnB'=A-B

i11) - ANB = {uccsunasn }
A'nB =B-A

Q.4 Attempt any two of the following

1)

2)

3)

If f(x)=2x"+ 3, g(x) = 5x— 2, then find
(a)f-g b g-f
(c)f=f (dg-g

If f(x) =3x+ 5, g (x) = 6x — 1, then find
(a) (f+g) (x) (b) (~2)(2)
(c) (f2) (3) (d) (f/g) (x) and its domain.

IfA=1{1.2,3,4}.B={3.4.5, 6},
C=1{4,5,6,7, 8} and universal set

X=1{1,2,3,4,5,6,7,8,9, 10}, then verify
the following:

1)  Au(BNC)=(AuB) (AUC)
1)  An(BuC)=(AnB) U(ANC)

(8]



